
Core Station
Assembly Manual





1

3

6

5

9

2

4

8

14

13

1013

11

14

7

12

15



Step 1

1/2

3/4

Page 1

Step 2

8

6

15



Page 2

5

2

Step 3

7

1

Step 4



Step 5

Page 3

Step 6 4x m4x25 mm

10

11



Step 7

Page 4

10

11

"matte"

"matte"

12

9

Step 8



Page 5

Step 5

For 2 MTis: Step 1...4;

Unmount the support from piece #11 and mount it on piece #10.
Use Pozidriv #2 screwdriver.

10

Step 6

2x 4x m4x25 mm



Page 6

Designed and manufactured for Slate group by ZAOR STUDIO FURNITURE.

Step 7
For 2 MTis:

Step 8

Materials used:
- particle board;
- MDF;
- dibond;
- metal hardware.
-
PACKING LIST
14 wood parts;
2 dibond parts;
48 assembly kits;
4x Keky systems;
8x m4 x 25 mm.

Instructions for use and cleaning
- clean with a soft cloth, slightly humid
or specific products for wood or lacquer;
- avoid the use of abrasive cleaners!
For assembly we recommend being at
least two people.


	Sheets and Views
	Model


